Pxctice Boblems

16. Suppose that the mass of a radioactive substance decays from 18 gms to 2 gms in 2 days. How long will

it take for 12 gms of this substance to decay to 4 gms? A. Ei 3 days (B. 1day) C. {3—‘; days
D. 2 days E. (In3)? days

Qsﬁ()ov\enh‘&( de.c,a-j — (‘J (Q)'—'er‘cj
ol KD Y,= 18, Yyluy=2

/

,\ b3 plc...ds (£ i~ JR-US)

K-Z

2=1%e
et e Lk JE4 Tt
et S TRege S [nq -zkﬁr._zl?
| sterkeA with 12 how !ma‘ & dacay +to &
Z{_ (3\.""9")t (

12 e 202 3
LA o
2 s e

($l~5)t



t FPoiht

23. lim2z=sin_z — A 1/2 B.2 (C.1/3)D.1 E.O0.
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25. Let R be the region between the graph of y = + and the z-axis, fromzr =atox =0 (0<a<b). It
the vertical line x = ¢ cuts R into two parts of equal area, then ¢ = A. vab) B. &2 (. lnafind

D.In(%2) E.In(%2) s

the line X=C cuks R inte tuuo € guel lalves
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26. Find the area of
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from z = —/3 to z = 1.
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7. Find the slope of the tangent line to the curve
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19. Suppose that / Hrldr=4, / flz) dx =7, and / g(x) dz = 3. Find
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20. Suppose A(a / f(t) dt where the graph of f is pictured below.
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25. The graph of a function,

A. f is an antiderivative of g and h is the derivative of g.

B. h is an antiderivative of g and f is the derivative of g.

C.

g is an antiderivative of f and h is the derivative of f.

|

its derivative, and one of its antiderivatives is pictured below.
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D. h is an antiderivative of f and ¢ is the derivative of f.

@ is an antiderivative of h and ¢ is the derivative of h.
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